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As accumulation proceeds,there is a steady mean level of profits in the growing economy.
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1. 2. 3. 4.

Marshall knew that he was fudging when he tried to squeeze these conceptions into the frame of

equilibrium in a stationary state.
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1. 2. 3. 4.

Marshall made many pronouncements on current problems.
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1. 2. 3. 4.

The accountancy to which all phenomena of modern economic life are amenable is an

accountancy in terms of price.
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1. 2. 3. 4.

In the slump, conventions had broken down and expectations had nothing to go on.
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1. 2.

3. 4.

Scarce commodities are those fixed in supply, or largely dependent for their production on

resources which are fixed in supply.
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1. 2. 3. 4.

THe marginal product of a given amount of labour,is the amount of output that would be lost if a

unit of labour were withdrawn.
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1. 2. 3. 4.

There are some difficulties about the marginal productivity of capital (let alone the coordinating

function.)
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1. 2. 3. 4.

Companies are also forced by scarcity to make careful choice among alternatives as they convert

inputs into outputs.
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1. 2.

3. 4.

Because their incomes will provide only modest amounts of these goods,most people must always

choose among them.
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1. 2. 3. 4.
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Modern developments, such as refrigeration,canning and air freight transport,are extending the

market even for goods which perish quickly.
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1. 2. 3. 4.

A tariff policy or import quotas, may effectively prevent certain commodities from entering the

country.
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1. 2. 3. 4.

Indeed it can develop into runaway inflation.
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1. 2. 3. 4.

Which interest payments are fixed in money terms, receipts from taxtation increase as money

national income rises.
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1. 2. 3. 4.

An important,if not over-riding, objective of economic policy must be to ensure that the National

Income (or total output) grows as fast as possible.
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1. 2. 3. 4.

With comprehensive national income accounting, this output of acid rain would have been

deducted from GDP.
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1. 2.

3. 4.

The ponderance of declining industeries, does not provide an adequate explanation of the

persistence of high unemployment.
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1. 2.

3. 4.

Adam Smith proclaimed the virtues of a capitalist economy but did not have a secure grasp of its

mode of operation.
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1.

2.

3.

4.
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Keynes's key worked in reverse,but was simply not being used.
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1.

2.

3.

4.

Structural unemployment refers to unemployment arising because there is a mismatch of skills

and job opportunities.
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1. 2.

3. 4.

It is still a delicate plant in need of carefull nurture.
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1.

2.

3.

4.

Although this was Kenynes's immediate pre-occupation,he really had his eye on the longer-term

problem we were discussing earlier.
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1.

2.

3.

4.

At this stage,there is no scope for personal value judgements.
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High demand for these commodities bids up their price and encourages their production.

fixes changes decreases increases
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1. 2. 3. 4.
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The prices are expected to rise again
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An earthquake was expected to destroy the city
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We expect to find all the passengers killed
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The taxes were raised by the government
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